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* Example 4:
. Write the Taylor Polynomial for f (x) = 7x2'xﬁc + 1 about x = 0 1y do Togler Seren S
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Write the third-degree Taylor Polynomial for f(x) = e™™.
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Example 2: (3%,
Write the Taylor Series, centered at x = 0, for g(x) = G_} '
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Write the Taylor Series for h(x) = sin x, centered at x = —-. W) & Seak
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Now you iry...
WI) Write the Taylor Polynomial of order 7 fot f(x) = sm(3x) :
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2) Write the Taylor Series, centered at x = 0, for g(x) = x6e2%°, ’
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3) Write the Taylor Series for h(x) =iz, centered at x = —1. hOo=x o ‘C i k2
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- 4) Write the Taylor Polynomial for £ (x) = x3‘t 5x? — 1 about x = 3.
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